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Ritp:/ffarbe.i u-berlin.de/BEYS/BEY 5LONA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

log () CIELABUS triangle lightness t*
t* h=Yw - nc=100,

t* CiELABUS =66 (Y/Y,)"30-16 (¥,=18, Y,/100Y<=Y,o)
t*(3,6)=23 t*,(18)=50 t*,(90)=97

CIELABUS

tristimulus value difference

Yoe=Yw - nc=100,
t* CiELABUS =66 (Y/Y,)Y30-16  (¥,=18, Y,/100Y<=Y,0)
log(dY) = (1/3,0) log[3,0¢,/65)] + [1~(1/3,0)] logY)

e

t*,=50, dY,=4,58 dY,/Y,=0,2544 _&*

application
range

]
LY,=18

log (AY/Y) CIELABUS
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
t* CiELABUS =66 (Y/Y,)Y30-16  (¥,=18, Y,/100Y<=Y,)
log(@dY/Y)= log[3,0Y,/65)] - (1/3,0) log¥/Y,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log{)

S 03 =
T~ o = .'- « . application
sange

ly,=18
1 Yw=90

CIELABUS
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
t* CiELABUS =66 (Y/Y,) Y3 0-16  (¥,=18, Y,/100Y<=Y,o)
log(Y/dY)= - log[3,0(/,/65)] + (1/3,0) log{/Y,)
- (1/3,0) log[3,0¢,,/65)] + (1/3,0) log¥)

i

application
range

Y,=18
Yn=3.6  Yyw=90

TUB-test chart BEY5; CIELABuUSt*
Absolute and relative lightness, sensitivity and conti&s65,49, 1
M Y

log (t*/t*,)  CIELABUS relative triangle lightness t*/t*,,

e, h=Yw - -nc=100,

t* ciELABus =66 (YY) Y3216 (v,=18, ¥, /100<Y<=Y,)
t*n(3,6)=23,t*,(18)=50,t*,(90)=97

log[t*/t* ]=0, m,=0,43
———————————————— gy .,
L* =49, t* =50 —
1 application
. f range
1y =18
Yi=90

log(AY/AY,) CIELABUS relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
t CiELABus =66 (Y/Y)30-16  (¥,=18, Y,/ 100<Y<=Y, )
log(dY/dY,) = [1~(1/3,0)] loglf/Y,)

application
range

Y,=18

. —
Yn=3.6
log [(AY/Y) 1 AYIY),] CIELABUS relative
tistimulus value sensitivit)
SISU=OYMIBYIN), YIS Vale sensitvity

nc
t*CiELABS =66 (Y/Y,) 3016 (Y,=18, Y,/100<Y<=Y,)
log[(dY/V)/(dY/Y),] = - (1/3,0) log¥/Y,)

log[(dY/YY(dY/Y),]=0, my=-2 30

=50, dY,=4,58 d¥,/Y,=0,2544 |
1y,=18

Yn=3.6  Yw=90

log [(Y/AY) 1 (YIAY),] CIELABUS relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

t* ciELABuS =66 (YY) Y3216 (v,=18, Y, /100<Y<=Y,)
log[(Y/dY)/(Y/dY),] = (1/3,0) log¥'/Y,)

application
range

Y,=18
Y=90

log (T*) CIELABUS triangle lightness T*
Y,

T+ heL*w o nc=

T*CiELABuS =66 (Y/Y) 316 (1,718, Y,/100<Y<=Y, )
T*N(3,6)=23,T*,(18)=50,T*y(90)=97

1Y,=18

e e

Ya=3.6 1Yy=90
BEY51-1A
logAY) CIELABUS
AY tristimulus value difference

Yo=L*w  ne=100,

T* CiELABus =66 (Y/Y) 316 (1,718, Y,/100<Y<=Y,0)
log(dY) = (1/3,0) log[3,0¢,/65)] + [1~(1/3,0)] logY)

-

*,=50, dY,=4,58 dY,/Y, 02544 -

application
range

]
LY,=18

BEY51-3A

log AY/Y) CIELABUS
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100
T* CiELABus =66 (Y/Y) 316 (1,718, Y,/100<Y<=Y,0)
log(dY/Y)= log[3,0(Y,/65)] - (1/3,0) log{/Y,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log{)

—~ - application
~.range

ly,=18
1 Yw=90

BEY51-5A

log (Y/AY) CIELABUS

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
T* CiELABus =66 (Y/Y) 316 (1,718, Y,/100<Y<=Y,)
log(Y/dY)= - log[3,0(,/65)] + (1/3,0) log¥/Y,)
~ (1/3,0) log[3,0¢,/65)] + (1/3,0) logy)

T* =50, dY,=4,58 Y,/dY,=3

application
range

Y,=18
¥N=3.600 Y =90 T

BEY51-7A
BEYS51-7N

& T* for Y/, Yn=(Y&L*) wreBne
1/3,0=0,33 Dp=-

log (T*/T*,) CIELABUS relative triangle lightness T*/T*,

THT*, Yoc=L*w - nc=100,

T*CiELABus =66 (YY) 3216 (Y,=18,Y,/100<Y<=Y,0)
T4 (3,6)=23.T* ,(18)=50,T*,,(90)=97

log[T*/T*]=0, m;=0,43

L* =49, T* =50 —
application
range

1Y,=18
Yw=90

BEY51-2A

log(AY/AY,) CIELABUS relative

tristimulus value difference
INUNG YorL* vy - n=100,
T* CiELABus =66 (YY) 316 (¥,=18, Y,/100<Y<=Y,0)
log(dY/dY,) = [1~(1/3,0)] loglf/Y,)

application
range

Y518
NN=3601 Y =90 T

BEY51-4A
log [(AY/Y) | (AYIY),] CIELABUS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
T* CiELABus =66 (YY) 316 (¥,=18, Y,/100<Y<=Y,0)
logl(dYM)/(AY/Y),] = - (1/3.0) logi/Y,)

Iog[(dY/YY(dY/Y),]=0, m,=-0,33 =
T#,=50, dY,=4,58 dY,/Y,=0,2544 !
1 =18 0
YR=3.67 =90 T

BEY51-6A
log [(Y/AY) I (YIAY),] CIELABUS relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
T* CiELABus =66 (YY) 3216 (¥,=18, Y,/100<Y<=Y,0)
logl(Y/dY)/(Y/dY),] = (1/3,0) logiY/Y,,)

log[(Y/dY)(Y/dY),]=0, m,=0,33

- 1
= 1 application
1 range
1y =18
NNE3601 Ya =90 T

BEY51-8A
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